
How did Zack Slater break his ankle?

	Zack had never been ice skating before.  Watching the speed-skating championships on the Birmingham canals had taken his interest.
	For thousands of years the Gulf stream has kept the UK waters unusually warm compared to other areas on the same latitude.  

	The Mayor of London gave the all clear for ice-skating on the Thames for the 2nd time that year.


	Throughout the early 21st century, global warming led to an ever increasing rate of ice sheet melting around the north pole.

	CO2 emissions from European aircraft flights show an 85% increase in the early 21st Century.
	The mayor announces a new flood protection scheme for London, the third scheme in 30 years.

	In the 1990’s scientists identified a link between Global Warming and the Gulf Stream.  


	The 2010 failure of the giant Three Gorges Dam in China, results in massive increases in the use of coal fired power stations across the country.

	The Scottish Tourist Board reports that winter season profits are higher than summer season profits for the 5th successive year.
	Zack’s parents book an old-fashioned boat trip to France for their son’s 11th birthday.

	Zack is born on Feb 25th 2029.  He has 3 brothers – part of a national population growth strategy.
	Carbon dioxide (CO2) is a greenhouse gas which traps heat reflecting off earth within our atmosphere.

	Zack’s planned boat trip to France had to be cancelled due to frozen waters in Dover Harbour.


	In the late 1990’s, President George Bush decides not to sign the Kyoto treaty designed to reduce carbon dioxide emissions.

	Scientists in the late 1990’s realise that the Gulf Stream may start to “shut down” if too much fresh water enters the North Atlantic Ocean.


	The Gulf Stream is part of a conveyor belt of water; warm salty water flows north from the Caribbean, sinks off Iceland, returns south along the seabed and rises again in the Caribbean.

	In the winter volume of “Medicine Today”, doctors note that for the first time, skin cancer is causing more deaths amongst middle aged men than smoking.
	The 2040 UK annual Crop Report, announces all time low yields of farm produce due to the ever shortening growing season.

	Todd “Toes-on-the-nose” Davies lives in Exeter.  He remembers when his ski and skate shop used to be a surf shop


	The Empress fleet of elite Cross-Atlantic ferries goes out of business due to the ever-increasing threat of “bergs” in the North Atlantic.


Climate Change Mystery.  The aim of this is to think about the concept of climate change and how it may impact on people.  

Strategy:

1) Look at cards for a couple of minutes to get a flavour.

2) How the cards could be sorted into groups or categories?

3) Focus on background / past events and recent events.

4) Put the cards into a logical order
Key Question 1) – What has happened to the Gulf stream?

Key Question 2) – How has this had an impact on the British way of life?

Key Question 3) – (Long Answer) – Who or what is to blame for Zack breaking his ankle?

Key Question 4) – When or how could have these chain of events been interrupted to prevent this incident from occurring?

Summary and debrief:

What have learnt – which do think was the greater here – the impact of people on the climate or the climate’s impact on people?

What did you find straight forward / what did you find easy?

